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EXN: Fat
HE: S0 BHOH
el Eare A s (sl &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ELMESE=E= YN} 2,216,359 2,216,359 0
J| 1,846,966
& 369,393
308 XAHXIEHSOIA 2,216,359 2,216,359 0
Jl 1,846,966
= 369,393
01 AIXSHMENMNEX= 2,216,359 2,216,359 0
Ostungaa I 2,216,359
J| 1,846,966
=} 369,393
=Ml 2 & 400,000 200,000 200,000
308 XHXIGH SO0l & 400,000 200,000 200,000
01 AIKSHHEMNEXZ 400,000 200,000 200,000
OJ}=Mole2d 400,000
S AAIE S AFY 620,375 1,953,000 N 1,332,625
J| 620,375
403 XX SRS K 20| & 620,375 1,953,000 N 1,332,625
J| 620,375
01 AXESHE2E X 620,375 1,953,000 N 1,332,625
OFAANAE S ALY 620,375
J| 620,375
AN 4 316,000 325,000 A9,000
308 XX SHHSOIH 235,000 235,000 0
01 AIXSHMENMNEX= 235,000 235,000 0
OXEs=AE 22 165,000
OZd €& 3 AtY 70,000
403 XX S M S X201 & 81,000 90,000 A9,000
01 XS A2E X 81,000 90,000 A9,000
OUE MAE Hel&dl K& 81,000
=N ALY 81,000 90,000 A9,000
308 XAHXIEHSOIA 81,000 90,000 A9,000
01 AIXSHMENMNEX= 81,000 90,000 A9,000
O1s™E YA dAHMH oF 81,000
SAAIE S U3 AFY 202,000 281,000 79,000
403 XX SHHS K20 & 202,000 281,000 A79,000
01 XIS A=Z2E X 202,000 281,000 79,000
OJIEANE st 103,000
OJIEs JI&Hs HsAae & 99,000
SHAS S HAIS 177,000 177,000 0
J| 127,500
& 49,500




A &
Bu: MY AR
CHel Bae M s (el @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
308 XXM SO0 A 177,000 177,000 0
| 127,500
< 49,500
01 AXNSGHBLAEES 177,000 177,000 0
OstdsOtAdE K& 177,000
| 127,500
< 49,500
AMStd Z2ASHAH 4 1,365,000 1,300,000 65,000
Xl 1,050,000
< 315,000
403 XXM S K201 A 1,365,000 1,300,000 65,000
Xl 1,050,000
< 315,000
01 XM A=2EE 1,365,000 1,300,000 65,000
OAtsetY Z292elAH S4 1,365,000
Xl 1,050,000
< 315,000
xB=sIt E=SALE 30,000 69,300 A 39,300
J| 30,000
308 XX EHHSOIA 30,000 69,300 A 39,300
| 30,000
01 AXSHBLELS 30,000 69,300 A 39,300
Of+=Z= sItE=2 30,000
| 30,000
4 ICT =8 A Y 1,080,000 0 1,080,000
| 900,000
= 180,000
403 XAXISH M S K201 1,080,000 0 1,080,000
| 900,000
S 180,000
01 XXM A2E = 1,080,000 0 1,080,000
OF4& ICT =8 Mg 1,080,000
| 900,000
= 180,000
AS HE ALY 9,000 0 9,000
308 XXM S0l A 9,000 0 9,000
01 IXNHHBANEES 9,000 0 9,000
OMS HE(AB=F) At 9,000
2SAY ZHH 25 60,000 0 60,000
308 XtXIEHH SOl A 15,000 0 15,000
01 X HHILEXS 15,000 0 15,000
O=&ANsE 208 24 15,000
403 XAXISH M S K201 45,000 0 45,000




N L1
Bu: MY AR
CHel Bae M s (el @)
SA - BB B () - MM - BES Ol &t o San HmEET
01 HXSHMA2E X 45,000 0 45,000
O2FAIE st AIEEHl K& 45,000
SoI=AL B £ 30,000 0 30,000
308 XXM SOIA 30,000 0 30,000
01 IXSHHMBAEE 30,000 0 30,000
ORI II=EAL HeEs 58 X& 30,000
MES H 258 2SKE 2,405 0 2,405
J| 2,405
308 XX EHHSOIA 2,405 0 2,405
J| 2,405
01 HXNHHBHELS 2,405 0 2,405
OHvEZs 8 238 28X 2,405
J| 2,405
IS4 DI 2 M 6,380,161 7,659,640 AN1,279,479
J| 3,309,851
< 3,070,310
=2 HEXMCAIE 215,000 279,500 A 64,500
J| 215,000
403 Mt SHHSA=0l& 215,000 279,500 A 64,500
J| 215,000
01 HXSHMA=LE L 215,000 279,500 A 64,500
OJ=2x MEX™AE 215,000
J| 215,000
Y 2SS &4t 525,700 1,425,400 A 899,700
J| 390,600
< 135,100
308 XXM SO0l A 314,800 313,400 1,400
J| 250,000
< 64,800
01 IXNHHBNEES 314,800 313,400 1,400
OAHIMEX II=E2L L€sH 3 64,800
Oyl &=yl XA 250,000
J| 250,000
403 MtXSHHS A= 0l& 210,900 1,112,000 A 901,100
J| 140,600
< 70,300
01 XM A=2EE 210,900 1,112,000 A 901,100
OMH| MAAIE AX 210,900
J| 140,600
< 70,300
O%Hlss 2% K& 0
=M H 22 100,000 100,000 0




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 100,000 100,000 0
01 AIXSHMENMNEX= 100,000 100,000 0
OJ=sMZM =22 100,000
TASMAD| B SE ALY 1,150,010 4,683,180 N 3,533,170
J| 529,000
= 621,010
308 XAHXIGHH SO0l & 793,250 4,103, 153 A 3,309,903
J| 487,000
& 306,250
01 IXHHIMNEXS 793,250 4,103, 153 A 3,309,903
OMNEZEHE SXUH 681,800
Jl 487,000
= 194,800
OAMNL2IX(SZ2HO0I) MZH 0
OHE 2 ALeX UWEXNRH 60,000
OsgAte ZT&EM XA 51,450
403 XX SHHS K20 & 356,760 580,027 N 223,267
J| 42,000
& 314,760
01 XIS A=Z2E X 356,760 580,027 N 223,267
OZANE BEHM &dl X 79,800
J| 42,000
o= 37,800
OXANE =&2&Hdl X& 228,960
OXZAMNSMA HIAH 435 XN 21,000
OXAE JIZ2AIE B 27,000
SEMEAIGAEX 22 19,200 15,360 3,840
308 XX SHHSOIH 19,200 15,360 3,840
01 AIXSHMENEXZ 19,200 15,360 3,840
OFMNHEIGEFEX B3 19,200
OHOEHol& = 400,000 480,000 A 80,000
308 XHXIEH SOl A 400,000 480,000 A 80,000
01 AIXSHMEMNEX= 400,000 480,000 A 80,000
OAI2 &2 MAXJ 400,000
EE sSMsI |4 48,600 54,000 AN5,400
308 XHXIGHH SO0l & 48,600 54,000 AN5,400
01 IXHHIMNEXS 48,600 54,000 A5,400
OXSASANMNZ 0SsIH 4 48,600
S ANAIE SHINS 508,800 622,200 A 113,400
308 MXISHMSOIA 28,800 43,200 A 14,400
01 X HHIMNEEXTZ 28,800 43,200 AN 14,400




N L1
HE: S0 BHOH
Sl AEFBA OB X4 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O==szZ &4 N& 28,800
403 MHXISHHE X201 E 480,000 579,000 299,000
01 XM A=2EER 480,000 579,000 299,000
O P4 AIZEH B3 390,000
Oils=2kzHdel &bl 23 90,000
=2 E2sids d2240] N2 12,000 0 12,000
J| 12,000
403 MtXISHH S =0l & 12,000 0 12,000
J| 12,000
01 X SHMA=2EE 12,000 0 12,000
O%ddld= 2401 12,000
J| 12,000
IIEER FE=sZ8FEI X 15,000 0 15,000
J| 15,000
403 Mt S E X201 & 15,000 0 15,000
J| 15,000
01 XXM A2E = 15,000 0 15,000
OYddl =& BFI| 15,000
J| 15,000
IMNSHAE HAXME XA 324,871 0 324,871
J| 232,051
< 92,820
308 MtXIEHMSOIH 324,871 0 324,871
J| 232,051
< 92,820
01 HXNHHNBHEELS 324,871 0 324,871
OZMSHME HEXMelHl X 324,871
J| 232,051
< 92,820
At el X (& 2201’ =l 3,039,920 0 3,039,920
J| 1,900,000
=) 1,139,920
308 XX EHHSOIA 3,039,920 0 3,039,920
J| 1,900,000
=) 1,139,920
01 IXNHHBNEES 3,039,920 0 3,039,920
OAdelX(g290l) M=t 3,039,920
J| 1,900,000
< 1,139,920
EMNE S22 XA 21,060 0 21,060
J| 16,200
< 4,860
308 XX EHHSOIA 21,060 0 21,060
J| 16,200




N L1
HE: S0 BHOH
Sl AEAFY JlB X4 (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 4,860
01 IXNHHBNEES 21,060 0 21,060
OXZAMNE 2l XE 21,060
J| 16,200
< 4,860
et g3t Y |RSIIE &5 2,852,038 2,825,188 26,850
= 32,000
J| 1,668,535
< 1,151,503
M2 fSIIE &= 85,000 117,000 A 32,000
307 21201 A 85,000 97,000 A 12,000
02 HAFAASFEE 15,000 30,000 A 15,000
OsE=SEL S2os st LN N2 15,000
04 DIZHHALALSE E X 70,000 67,000 3,000
Osel= 42 EHE HAEYE FIOHXR 20,000
O%% 89y Uy =X 50,000
SEZAY elAdl XA 2,094,700 2,016,000 78,700
J| 1,256,820
< 837,880
307 21201 A 2,094,700 2,016,000 78,700
J| 1,256,820
< 837,880
03 QIZtHNHEB2HHEX 2,094,700 0 2,094,700
OE=ZALA 148l XI& 2,094,700
J| 1,256,820
< 837,880
E4E HACCP ZHA S XI (MAFCH) 115,836 70,560 45,276
J| 94,560
< 21,276
308 XX EHSOIA 115,836 70,560 45,276
Jl 94,560
< 21,276
01 HIXNHHBNEES 115,836 70,560 45,276
OFAtS HACCP HAE X2 (MASA) 115,836
J| 94,560
< 21,276
A0 H(HESREH]) 412,302 479,268 A 66,966
J| 317,155
< 95,147
308 XtXIEHH SO0l A 412,302 479,268 A 66,966
J| 317,155
< 95,147
01 AXHHBIYEES 412,302 479,268 A 66,966
O=48 01"8H (& AESEY]) 412,302




N L1
Bu: MY AR
OR: AU Y REIIY HE (29 a8)
SA - BB B () - MM - BES Ol &t o San HmEET
Jl 317,155
< 95,147
SMSANRLE M2ZAE 105,000 111,000 A 6,000
308 AHAIEHHSOIA 105,000 105,000 0
01 HXNHHBHELS 105,000 105,000 0
OHAME & HM2ldHE X 105,000
E4E2 HACCP ZHEE XA (B . RS E0) 39,200 31,360 7,840
= 32,000
< 7,200
308 XXM SO0l A 39,200 31,360 7,840
= 32,000
< 7,200
01 IXNHHBNEES 39,200 31,360 7,840
OF4ES HACKP HEE NAAY(IIE SE20F
) 39,200
= 32,000
< 7,200
b= AAY 12,883,638 11,751,116 1,132,522
= 9,642,669
J| 1,051,383
= 2,189,586
THS LA KYAE DY XA 5,718,983 5,415,285 303,698
= 5,551,269
< 167,714
201 Yet2 | 15,000 0 15,000
= 7,500
S 7,500
03 A2 Z Hl 15,000 0 15,000
OXEYY JtaEdE(%) 15,000
= 7,500
= 7,500
308 XtXIEHH SOl A 5,703,983 4,619,325 1,084,658
= 5,543,769
< 160,214
01 X HHILEES 5,703,983 4,619,325 1,084,658
OFUXE SEMH 23 148,262
= 114,048
< 34,214
OFMSE MBS A=t 526,500
= 405,000
= 121,500
OFHA BHAZ™S 25tHM X2 86,790
= 86,790
ONFMLFAL & JIHE 2H 4,462,841
= 4,462,841
O4 E=4dc2td HEEFH 195,090




N L1
Bu: MY AR
Sl DS e ALY (S &2)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
= 195,090
OHNASHEE XNEXE ALY 30,000
= 30,000
OMS X At=2el 175,000
= 175,000
OJEYY Jta 28 (Al2) 19,500
= 15,000
< 4,500
OJl=st 28 &el XE 60,000
= 60,000
JIEfdEdid=s 93 oAl N&E 849,000 725,000 124,000
J| 509,400
< 339,600
307 21201 & 849,000 725,000 124,000
J| 509,400
< 339,600
03 QIZtHNHEB2HHEX 849,000 0 849,000
OzgMgaARs 29 849,000
J| 509,400
) 339,600
SN 2 598,683 595,739 2,944
J| 541,983
=) 56,700
308 XXM SO A 598,683 595,739 2,944
J| 541,983
=) 56,700
01 IXNHHBNEES 598,683 595,739 2,944
OZs&HE 1A 340,200
J| 283,500
< 56,700
O3sZLHE 2l 258,483
J| 258,483
AHEENS 3,937,500 3,937,500 0
= 3,500,000
=) 437,500
308 AHXIEHHSOIA 3,937,500 3,937,500 0
= 3,500,000
< 437,500
01 AXSHHBEES 3,937,500 3,937,500 0
OdHE B3 3,937,500
= 3,500,000
< 437,500
RIS o 280,600 296, 200 A 15,600
201 Let2dE] 4,600 4,600 0
01 AFR 22l 4,600 4,600 0




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
ONnsdosE=s MY E2 3,000
OTFHE, ANZZUESRAUT) SSHEAURSE
= gl 1,600
308 XXM SOIA 240,000 291,600 251,600
01 XML EES 240,000 291,600 251,600
OFHY HEES ZotA 240,000
403 Ut E X201 & 36,000 0 36,000
01 X SHHMA=2LE L 36,000 0 36,000
OFSAUE ASASAIE &X 36,000
ITFRUSFAUI & 91,112 104,612 A 13,500
308 XX EHHSOIA 64,112 64,112 0
01 HIXNHHBNEES 64,112 64,112 0
o2l AERASRAIL) oY SSUHA 64,112
403 XIS EA201 & 27,000 40,500 A 13,500
01 X SHHAN2E= 27,000 40,500 A 13,500
OAI(ERQUEZAUT) ol HAALE HA 27,000
rsgdgr = 250,680 343,680 293,000
308 XtXIEHH SOl A 208,680 283,680 275,000
01 HXNHHBHELS 208,680 283,680 A75,000
Oaxssds & 7¢ 105,000
O3+=2JA HHasSXH 103,680
403 XSS X201 & 42,000 60,000 218,000
01 XXM 22 = 42,000 60,000 A 18,000
Os&@sdx AsasI| X 42,000
F2 IJEdgE 2X 255,120 281,100 225,980
308 A EHHSOIA 255,120 281,100 225,980
01 AXSGHBLELS 255,120 281,100 A 25,980
RABAME ALE ALY 36,000
O2= HEE HlEAY 60,750
O2H Had LA 78,870
Oz g LA 30,000
O ZA8 & JAHIAE B 49,500
S=AAL2 Al 2,000 2,000 0
206 M= Hl 2,000 2,000 0
01 =8l 2,000 2,000 0
OS=28 AAZ =JHHIE 2,000
s=2 23 21X 104,000 50,000 54,000
308 XXM SO A 104,000 50,000 54,000




N L1
HE: S0 BHOH
Sl ISP ALY CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 104,000 50,000 54,000
Os283s2s 29 50,000
ORI .Rads= 2 243 X = 24,000
Os==X ASAY =0 X 30,000
LAY ¥ FE ZAFH E X 795,960 0 795,960
2 591,400
= 204,560
403 XSS A0l & 795,960 0 795,960
2 591,400
< 204,560
01 XM A=2EE 795,960 0 795,960
Oonsdaxtg X3 15,000
= 15,000
ONHE HE . ASAE &X 680,960
= 486,400
< 194,560
OAasxeg K& 40,000
= 40,000
OEsd AEAS)D| 60,000
= 50,000
< 10,000
W=H0 243t 3,089,750 14,991,500 A 11,901,750
= 714,000
Xl 1,397,800
< 977,950
W= g s4 3,089,750 14,991,500 A 11,901,750
= 714,000
X 1,397,800
S 977,950
g olzaers &x 161,250 193,500 A 32,250
2 150,000
< 11,250
403 XA SA=0l& 161,250 193,500 A 32,250
= 150,000
< 11,250
01 HXSHMA2E X 161,250 193,500 A 32,250
OU =2 elsitetd &X 161,250
= 150,000
= 11,250
SMBSROLY R 315,000 315,000 0
Xl 280,000
< 35,000
308 XXM SOIA 315,000 315,000 0
Xl 280,000
< 35,000
01 AXHHBILEES 315,000 315,000 0




2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSSR LLR 315,000
Xl 280,000
< 35,000
XNoHLFS T A 35,000 35,000 0
Xl 28,000
= 7,000
308 XXM SOIA 35,000 35,000 0
Xl 28,000
< 7,000
10 B2 SUHUS3AHHH A 35,000 35,000 0
OXNEFT SWXZA 35,000
X 28,000
< 7,000
SAIAS HdE S A 153,000 53,650 99,350
= 90,000
< 63,000
308 MtXIEHSOIH 153,000 53,650 99,350
= 90,000
< 63,000
01 HXNHHBHELS 153,000 53,650 99,350
OSAILY HESH ALY 153,000
= 90,000
< 63,000
H2OH el HE AL Ol & 12,000 27,000 A 15,000
403 XSS A=0l& 12,000 27,000 A 15,000
01 X SHMA2E X 12,000 27,000 A 15,000
O HMAID oflg DJgtx 4 12,000
SO 2d 2 2S5 130,000 153,500 A 23,500
201 Let24E] 10,000 10,000 0
01 At 22l I 10,000 10,000 0
OS80ug &X & == 44X HEA EE=
X & 10,000
308 XXM SO0 A 120,000 143,500 A 23,500
01 IXNHHBNEES 120,000 143,500 A 23,500
OESS0 S22 & gy 4= 60,000
OEZENR XY &7 XA 30,000
OW=S MEIH D&AHE FHAY 30,000
A 0Z20E 54 59,300 70,300 A 11,000
308 XXIEHH SOl A 49,300 49,300 0
01 AXHHILEES 49,300 49,300 0
ongeol =4&dls & FENMS 3,300
OYAO Ol 2MAT U SANY B3 16,000




2N
X ZH -
L= B
el

SA - BB B () - MM - BES Ol &t o San HmEET

OU=g &ad =2 o 30,000

403 MHXISHHE X201 E 10,000 21,000 211,000

01 XM A=2EER 10,000 21,000 A 11,000
O&ed 20 54 MY 10,000

=S =M ESHEA 2l 5,800 5,800 0
= 4,000
< 1,800

308 XXM S0l ™ 5,800 5,800 0
= 4,000
< 1,800

NXNSHBALELS 5,800 5,800 0
OU==8 ={GJABS7A 2e| 5,800
= 4,000
< 1,800

W= 0 HE+ At 487,500 243,750 243,750
= 375,000
< 112,500

403 XSS A=0l& 487,500 243,750 243,750
= 375,000
S 112,500

01 XM A=2E X 487,500 243,750 243,750
OU=% & HE= ALY 487,500
= 375,000
< 112,500

M2 AKX JISAIE AHE 386,400 348,000 38,400
Xl 289,800
< 96,600

403 XIS E X201 & 386,400 348,000 38,400
Xl 289,800
< 96,600

01 XM A=2E X 386,400 348,000 38,400
O=4&2 &K B AIE & 386,400
X 289,800
< 96,600

DEOMX O a2 AlE & 1,000,000 800,000 200,000
X 800,000
< 200,000

403 Ut SHHSA=0l& 1,000,000 800,000 200,000
X 800,000
< 200,000

02 SJ| 2SO0l CHSH At 2 X CH & AF I 1,000,000 800,000 200,000
ORI HE MHAAIAIL &R 1,000,000
Xl 800,000
< 200,000

HBUUX 0l =23 AL 104,500 0 104,500




AN e

o 4S0{ 25
ool 40 oY SA (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 95,000
& 9,500
403 XX SHHS K20 & 104,500 0 104,500
= 95,000
&< 9,500
01 XIS AE2E X 104,500 0 104,500
O Xl Ol 283 AL 104,500
= 95,000
& 9,500
=AS EoHE L JI2TofAlE XY 240,000 0 240,000
403 XX SRS K 20| & 240,000 0 240,000
01 MXHHE2E =X 240,000 0 240,000
Ozx=p2 Eotd Y JIZ2THIAIE XIS 240,000
SHEM2AAH (S 63,317 63,817 A 500
Jl23dHl 63,317 63,817 A 500
Jl 2 AH| 63,317 63,817 A 500
201 et 18,627 18,627 0
01 AP 2t 2] H| 18,627 18,627 0
OJI2x=2Hl| 7,602
OJls2&| 11,025
202 044 39,690 39,690 0
01 2Ll 39,690 39,690 0
o220l 39,690
405 XHA&HF S HI 5,000 5,500 A 500
01 AL 2 FF S| 5,000 5,500 A 500
OFHE - Al S A=A A 5,000
- WX 1,000
— S A O 2| 2,000
-NsE2E 2,000
HBE=(F4) 101,500 0 101,500
WEAHA XK= 101,500 0 101,500
LHEAHH K= 101,500 0 101,500
705 l==cl 24 101,500 0 101,500
04 Al - S XYL S0 £=20| Xpatst 101,500 0 101,500
O MABSAMA HEX X4 101,500




